AWIAINTAUNIINYIA Y
CHuLALONGKORN UNIVERSITY



10

12

5.1 11
2.1
14

161
349

100

142
50

142
50

161
3

6/
125

29.1 10
14

83.9

21
16.1
29.7
5.1

4.0
26.0

140
26.0

83.9
16.1

34.9
65.1

12
16.1

26

26

1

9

65.1



28

6.3

69.3

66.8

119
17
4
133
12
62
125

63

63.0
28.0

245
69.3
6.3

33.2
66.8

24.5

8

33.2



1.2

46.99

42.04

12.76

9.80

13.31

1.2

46.99

60
1.99
1.87
1.68

1.79

6.98

79



14
(8.1%)

(0%)
14
(8.1%)
C=.173

80

4-13

(N =192, missing value = 19)

114 128
(65.9%) (74.0%)

45 45
(26.0%) (26.0%)

159 173
(91.9%) (100.0%)

{ =535 p-value = .021
65.9
8.1
26.0

05 (<= 173) 2



(9-10 )

(1112 )

¢ =.140

185

81

(N =192, missing value = 19)

- 32 32
(0%) (18.5%) (18.5%)
14 127 141
(18.1%) (73.4%) (81.5%)
14 159 173
(8.1%) (91.9%) (100.0%)

%2 3457 p-value = .050
134
18.1

05 (C = .140)



10
(5.8%)

(2.3%)

14
(8.1%)

¢ =.005

66.5
5.8
254

(N =192, missing value = 19)

115
(66.5%)
4
(25.4%)
159
(91.9%)

X2= 005

125
(72.3%)
48
(27.7%)
173
100.0%

p-value = .943

2.3



¢ =.042

6.4

17

1
(6.4%)

<L.7%)
14
(8.1%)

X2= 309

1.5

145

(N =192, missing value = 19)

134 145
(77.5%) (83.8%)
25 28
(14.5%) (16.2%)
159 173
(91.9%) (200.0%)

p-value = 578

83



(2.9%)
(5.2%)
14

(8.1%)
¢ = 006

318

Gerl

(N =192, missing value = 19)

55
(31.8%)
104
(60.1%)

159

(91.9%)
X2= 007

60.1

60
(34.7%)
110
(65.3%)

173

(100.0%)
p-value = 933

2.9



¢ =.044

10
(5.8%)

(L8%)
(0.6%)

1
(8.2%)

(N =192, missing value = 21)

X2= 335

5.8

18

100
(58.5%)
K
(25.1%)
14
(8.2%)
157
(91.8%)

0.6

110
(64.3%)
4
(26.9%)
15
(8.8%)
171
(100.0%)

p-value = .846

58.5

25.1

85

8.2



10

(L.2%)
10
(5.8%)

(1.2%)
14
(8.1%)
¢ =.180

10

1.2
4.2
5.8
4.6

23.1

86

(N =192, missing value = 19)

40 42
(23.1%) (24.3%)
m 121
(4.2%) (69.9%)
8 10
(4.6%) (5.8%)
159 173
(91.9%) (100.0%)
%2 =5.1% p-value = 055

1.2



(N = 192, missing value = 19)

30.4

6 51
(3.6%) (30.4%)

8 103
(4.8%) (61.3%)

14 154
(8.3%) (91.7%)

¢ = 057 X2= 543
1
, 3.6
61.3

4.8

57
(33.9%)
111
(66.1%)
168
(100.0%)

p-value = .461

87



12

¢ =.180
12
2.9
24.9
35
6.9

(N =192, missing value = 19)

5 104
(2.9%) (60.1%)
6 13
(3.5%) (24.9%)
3 12
(1.7%) (6.9%)
14 159
(8.1%) (91.1%)
X2- 5796

60.1

109
(63.0%)
49
(28.3%)
15
(8.7%)
173
(100.0%)

p-value =.055

1.7

88



13

05

05

05

13

.05

p

05

404*
200*

287*

346*

369*

05

89



14

(Correlation Matric)

v
096 -.096 -.042 080
-1.000 -129* 092
129* -092

-851*

-076
-.054
-.054
-152*
-.389%

90

14

051
-.067
067
071
039
-198*



4()

-.044
078
-078
021
-.059
075
-082*

-017
-008

008

-.148*
027
200*

- 415

-.209*

043
004

-004
- 123
054
114
- 199*

096
179¢

005
.040

-040
-028

062

-.068
126*

-.053
- 125

-.810*

-043
- 143
143
172
- 125%
-067
200%

-.160*
-.083

-.326*

- 158*

"(Correlation Matric)

-072
079
-079
177
- 139
-.048
-043

086
-.060

-237*
-115

-.046

91

002
053

-053

087

-073
-014
215*

- 175
-.086

-104

099
0.19
008



»
»

»

»

» 1

071
- 126

126

021

-015
-010
-023

-051
116

016

-059

048

041

-074

-071
126
- 126*

021

015

010

023

051

-116

-016

059

-048

-041

074
-.1000

026
043
-043
007
015
-040
028

030
-091

-086

105

-004

-028

-015

-057
057

-026
-043

043

-007
-015

040

-028

-030

091

086

-105

.004

028

015

057

-057
-1.000

113
039

-039

046

-013
-057
-068

-043
178

-038

066

= 138

120

050

085
-085

034

-034

-113
-039
039
-046
013
057
068

043
- 178

038

-.066

138*

-120

-050

-085
085

-034
034

-1.000

(Correlation Matric)

062
115

-115

020

-069

095

-106

087
040

-098

071

-031

131*

- 125

-072

072
059

-059
-037

037

-062
-115

115

-020

069

-095

106

-087
-040

098

-071

031

- 131*

125

072

-072
-059

059
037

-037
-.1000

92

-252*

097

-097
-008

033

-048
169*

-114
-103

007

004

-016

-.008

A07*

-291*
291*

061

-061
-002

002

-140

140



'14
.05
.05
.05
(1= .209)
(= -851)

(1= -.810)

(r = .407)

(r=169, r = .140)

(r=-140, r= - 252, r= -291)

93

(r = 215)



.05

94

15 R

(Stepwise Multiple Regression)

R R F P-value
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16 ? (B)
(Beta) 4B

B SE. B Beta t Rvalue

483 080 407 6007 000
4273 11062 -263  -4.025 000
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?
?
= 81.295 + .483 ( )
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